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Selection of reactions

e Select within REST files based on thrown information

* p TT* TT" events: ~10% of O, most events are p° and A

* p T* TT" T1° events: ~5% of O, contains p® and W events

* Removed file numbers that were corrupt from high rate from
all data sets so that we are comparing the same events

* Original bggen output files are common

pTT* T |p TT" 1T TT°
no EM 53,939 22,033
standard 53,941 22,027
high rate 53,925 22,011

# of events for
each reaction.
Total # of original
events is 48k.
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kfit p (GeV/c) for p

kfit p (GeV/c) for p

p vs O for proton
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kfit p (GeV/c) for n°

kfit p (GeV/c) for n°

p vs O for T1°
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* Many more events when EM

_ background
IO * No timing used in kfit?

E bg is turned on
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Physics - kfit CL > 10>
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Physics - no kfit cut
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